COMPOSITE FUNCTIONS

Wednesday, January 12, 2022 1:11 PM

$$\frac{dz}{dt} = \frac{\partial z}{\partial n} \frac{dn}{dt} + \frac{\partial z}{\partial y} \frac{dy}{dt} \qquad z$$

COMPOSITE FUNCTIONS

(a) Let z = f(x, y) and $x = \Phi(t)$, $y = \Psi(t)$ so that z is function of x, y and x, y are function of third variable t. The three relations define z as a function of t. In such cases z is called a **composite function of t**.

e.g. (i)
$$z = x^{2} + y^{2}, x = at^{2}, y = 2at$$

$$\frac{dz}{dt} = \frac{\partial z}{\partial m}, \frac{dm}{dt} + \frac{\partial z}{\partial y}, \frac{dy}{dt}$$

$$= (2m)(2at) + (2y)(2a)$$

$$= (2at^{2})(2at) + (4at)(2a)$$

$$= 4a^{2}t^{3} + 8a^{2}t$$

$$Z = m^{2}ty^{2}$$

$$Z = a^{2}ty^{2} + (2at)^{2}$$

$$\frac{dz}{dt} = 4a^{2}t^{3} + 8a^{2}t$$

(ii) $z = x^2y + xy^2$, x = acost, y = bsint define z as a composite function of t Differentiation: Let z = f(x, y) possesses continuous first order partial derivatives and $x = \Phi(t)$, $y = \Psi(t)$

possesses continuous first order derivatives then, $\frac{dz}{dt} = \frac{\partial z}{\partial x} \cdot \frac{dx}{dt} + \frac{\partial z}{\partial y} \cdot \frac{dy}{dt}$

$$\begin{array}{ccc} u \\ & & \\$$

Some solved examples:
1. If
$$u = x^2y^3$$
, $x = \log t$, $y = e^t$, find $\frac{du}{dt}$
Solved
 $\frac{Solve}{dt} = \frac{\partial u}{\partial m} \cdot \frac{dm}{dt} + \frac{\partial u}{\partial y} \cdot \frac{dy}{dt}$
 $= (2my^3)(\frac{1}{t}) + (3m^2y^2)(e^t)$
 $= (2\log t e^{St})(\frac{1}{t}) + (3(\log t)^2 e^{2t})e^t$

$$\frac{d 4}{d t} = e^{St} \left(\frac{2 \log t}{t} + 3 (\log t)^2 \right)$$

2. If u = xy + yz + zx where $x = \frac{1}{t}$, $y = e^t$, $z = e^{-t}$, find $\frac{du}{dt}$

$$= (9+2)(\frac{1}{t^2}) + (n+2)(e^t) + (n+9)(-e^t)$$

$$= (e^t + e^t)(\frac{-1}{t^2}) + (\frac{1}{t} + e^t)e^t + (\frac{1}{t} + e^t)(-e^t)$$

$$= (e^t + e^t)(\frac{-1}{t^2}) + \frac{e^t}{t} + 1 - \frac{e^t}{t} - 1$$

$$\frac{du}{dt} = \frac{1}{t} \left(e^{t} - \overline{e}^{t} \right) - \frac{1}{t^{2}} \left(e^{t} + \overline{e}^{t} \right)$$

3. If
$$z = e^{xy}$$
, $x = t \cos t$, $y = t \sin t$, find $\frac{dz}{dt}$ at $t = \frac{\pi}{2}$

$$\frac{dz}{dt} = \frac{\partial z}{\partial n} \cdot \frac{dn}{dt} + \frac{\partial z}{\partial y} \cdot \frac{dy}{dt}$$
$$= y e^{my} \cdot (cost - tsint)$$
$$+ n e^{my} (sint + t cost)$$

$$\begin{array}{ccc} at & t = \frac{\pi}{2}, & \pi = 0, & y = \frac{\pi}{2} \\ \frac{dz}{dt} \\ t = \frac{\pi}{2} & = \frac{\pi}{2} e^{0} \left(0 - \frac{\pi}{2} \right) + 0 \\ z & = \frac{\pi}{2} \left(-\frac{\pi}{2} \right) = -\frac{\pi^{2}}{4} \end{array}$$

Z M J t t

L

(b) Let z = f(x, y) and $x = \Phi(u, v)$, $y = \Psi(u, v)$ so that z is function of x, y and x, y are function of u, v. The three relations define z as a function of u, v. In such cases z is called a **composite function of u**, v. e.g. (i) z = xy, $x = e^u + e^{-v}$, $y = e^{-u} + e^v$

(ii) $z = x^2 - y^2$, x = 2u - 3v, y = 3u + 2v define z as a composite function of u and v

 $\frac{\partial z}{\partial z} = \frac{\partial z}{\partial x} \cdot \frac{\partial n}{\partial u} + \frac{\partial z}{\partial z} \cdot \frac{\partial y}{\partial u}$ Γ N $\frac{\partial z}{\partial v} = \frac{\partial z}{\partial v}, \frac{\partial v}{\partial v} + \frac{\partial z}{\partial v}, \frac{\partial v}{\partial v}$ Or ze de re de me de de de L (\imath) $\frac{\partial u}{\partial q} = \frac{\partial u}{\partial q} \cdot \frac{\partial n}{\partial q} + \frac{\partial u}{\partial y} \cdot \frac{\partial q}{\partial q} + \frac{\partial z}{\partial z} \cdot \frac{\partial q}{\partial z}$ η 7_ P $\frac{\partial u}{\partial x} = \frac{\partial u}{\partial n} \cdot \frac{\partial n}{\partial a} + \frac{\partial u}{\partial y} \cdot \frac{\partial y}{\partial a}$ U (3) $\frac{\partial u}{\partial h} = \frac{\partial u}{\partial n}, \frac{\partial n}{\partial h} + \frac{\partial u}{\partial h}, \frac{\partial y}{\partial y}$ $\frac{\partial h}{\partial h} = \frac{\partial h}{\partial n}, \frac{\partial n}{\partial c} + \frac{\partial h}{\partial u}, \frac{\partial y}{\partial c}$ $\frac{\partial u}{\partial u} = \frac{\partial u}{\partial n} \cdot \frac{\partial n}{\partial l} + \frac{\partial u}{\partial y} \cdot \frac{\partial y}{\partial l} + \frac{\partial u}{\partial z} \cdot \frac{\partial z}{\partial l}$ U (4) $\frac{\partial u}{\partial m} = \frac{\partial u}{\partial m}, \frac{\partial n}{\partial m} + \frac{\partial u}{\partial y}, \frac{\partial y}{\partial m} + \frac{\partial u}{\partial z}, \frac{\partial z}{\partial m}$ Ч $\delta n = \frac{\partial n}{\partial n} \frac{\partial n}{\partial n} + \frac{\partial n}{\partial n} \frac{\partial n}{\partial n} + \frac{\partial n}{\partial n} \frac{\partial 2}{\partial n} + \frac{\partial 2}{\partial n} \frac{\partial 2}{\partial n}$

Differentiation: Let z = f(x, y) possesses continuous first order partial derivatives and $x = \Phi(u, v)$,

 $y = \Psi(u, v)$ possesses continuous first order partial derivatives then,

$$\frac{\partial z}{\partial u} = \frac{\partial z}{\partial x} \cdot \frac{\partial x}{\partial u} + \frac{\partial z}{\partial y} \cdot \frac{\partial y}{\partial u} \quad \text{and} \quad \frac{\partial z}{\partial v} = \frac{\partial z}{\partial x} \cdot \frac{\partial x}{\partial v} + \frac{\partial z}{\partial y} \cdot \frac{\partial y}{\partial v}$$

1. If $x^2 = au + bv$, $y^2 = au - bv$ and z = f(x, y), Prove that $x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} = 2\left(u \frac{\partial z}{\partial u} + v \frac{\partial z}{\partial v}\right)$.

-

also
$$\frac{\partial z}{\partial v} = \frac{\partial z}{\partial n} \cdot \left(\frac{b}{2n}\right) + \frac{\partial z}{\partial y} \cdot \left(\frac{-b}{2y}\right)$$

 $v \frac{\partial z}{\partial v} = \frac{\partial z}{\partial n} \left(\frac{bv}{2n}\right) + \frac{\partial z}{\partial y} \left(\frac{-bv}{2y}\right) = \left(\frac{bv}{2}\right) \left(\frac{1}{n} \frac{\partial z}{\partial n} - \frac{1}{y} \frac{\partial z}{\partial y}\right)$
 $\therefore RNS = 2 \left(v \frac{\partial z}{\partial u} + v \frac{\partial z}{\partial v}\right)$

$$= \alpha u \left(\frac{1}{n} \frac{\partial z}{\partial n} + \frac{1}{y} \frac{\partial z}{\partial y} \right) + b u \left(\frac{1}{n} \frac{\partial z}{\partial n} - \frac{1}{y} \frac{\partial z}{\partial y} \right)$$

$$= \frac{1}{n} \frac{\partial z}{\partial n} \left(\alpha u + b u \right) + \frac{1}{y} \frac{\partial z}{\partial y} \left(\alpha u - b u \right)$$

$$= \frac{1}{n} \cdot \frac{\partial z}{\partial n} \left(n^{2} \right) + \frac{1}{y} \frac{\partial z}{\partial y} \left(y^{2} \right)$$

$$= n \frac{\partial z}{\partial n} + y \frac{\partial z}{\partial y} = LNS. \text{ Hence proved.}$$

2. If
$$u = \log(x^2 + y^2)$$
, $v = \frac{y}{x}$ prove that $x\frac{\partial z}{\partial y} - y\frac{\partial z}{\partial x} = (1 + v^2)\frac{\partial z}{\partial v}$

$$\frac{\partial z}{\partial n} = \frac{\partial z}{\partial u} \cdot \frac{\partial u}{\partial n} + \frac{\partial z}{\partial v} \cdot \frac{\partial v}{\partial n}$$

$$\frac{\partial z}{\partial y} = \frac{\partial z}{\partial u} \cdot \frac{\partial u}{\partial y} + \frac{\partial z}{\partial v} \cdot \frac{\partial v}{\partial y}$$

$$(u = \log(m^2 + y^2))$$

$$\frac{\partial u}{\partial n} = \frac{2\pi}{n^2}$$

$$\frac{\partial u}{\partial y} = \frac{2\pi}{n^2$$

MODULE-4 Page 5

$$\frac{1}{3y^{2}} = \frac{2\pi y}{\pi^{2} + y^{2}} \frac{3z}{3u} + \frac{3z}{3v} - 5$$

$$\frac{1}{3y^{2}} = \frac{2\pi y}{\pi^{2} + y^{2}} \frac{3z}{3u} + \frac{3z}{3v} - 5$$

$$\frac{1}{3y^{2}} = \frac{2\pi y}{\pi^{2} + y^{2}} \frac{3z}{3u} + \frac{3z}{3v} - 5$$

$$= \left(\frac{2\pi y}{\pi^{2} + y^{2}} \frac{3z}{3u} + \frac{3z}{3v}\right) - \left[\frac{2\pi y}{\pi^{2} + y^{2}} \frac{3z}{3u} - \frac{y^{2}}{\pi^{2} + y^{2}} \frac{3z}{3u}\right]$$

$$= \left(\frac{1 + y^{2}}{\pi^{2}}\right) \frac{3z}{3v} = (1 + v^{2}) \frac{3z}{3v} = Rus.$$
Hence proved:

1/14/2022 1:13 PM
3. If
$$u = f(x^2 - y^2, y^2 - z^2, z^2 - x^2)$$
, prove that $\frac{1}{x} \frac{\partial u}{\partial y} + \frac{1}{z} \frac{\partial u}{\partial z} = 0$.
 $\int \frac{\partial v}{\partial y} = \int \frac{\partial v}{\partial y} - \frac{\partial v}{\partial y} + \frac{\partial v}{\partial y} = y^2 - z^2, \quad x = z^2 - \pi^2$
 $u = f(p_1, q_1, x)$
 $\frac{\partial u}{\partial m} = \frac{\partial u}{\partial p} + \frac{\partial u}{\partial n} + \frac{\partial v}{\partial x} + \frac{\partial v}{\partial n}$
 $= \frac{\partial u}{\partial p} \cdot (2\pi) + \frac{\partial u}{\partial x} \cdot (-2\pi)$
 $\frac{\partial u}{\partial y} = \frac{\partial u}{\partial p} \cdot \frac{\partial p}{\partial y} + \frac{\partial u}{\partial q} + \frac{\partial q}{\partial y}$
 $\frac{\partial u}{\partial y} = \frac{\partial u}{\partial p} \cdot \frac{\partial p}{\partial y} + \frac{\partial u}{\partial q} + \frac{\partial q}{\partial y}$
 $\frac{\partial u}{\partial y} = \frac{\partial u}{\partial p} \cdot \frac{\partial p}{\partial y} + \frac{\partial u}{\partial q} \cdot \frac{\partial q}{\partial y}$

MODULE-4 Page 6

$$\frac{\partial u}{\partial y} = \frac{\partial u}{\partial p} \left(2y \right) + \frac{\partial u}{\partial q} \left(2y \right)$$

$$\frac{d}{d} \frac{\partial u}{\partial y} = -2 \frac{\partial u}{\partial p} + 2 \frac{\partial u}{\partial q} \qquad (2y)$$

$$\frac{d}{d} \frac{\partial u}{\partial y} = -2 \frac{\partial u}{\partial p} + 2 \frac{\partial u}{\partial q} \qquad (2z)$$

$$\frac{\partial u}{\partial z} = \frac{\partial u}{\partial q} \cdot \frac{\partial q}{\partial z} + \frac{\partial u}{\partial x} \cdot \frac{\partial y}{\partial z}$$

$$= \frac{\partial u}{\partial q} \left(-2z \right) + \frac{\partial u}{\partial x} \left(2z \right)$$

$$\frac{d}{d} \frac{\partial u}{\partial q} = -2 \frac{\partial u}{\partial q} + 2 \frac{\partial u}{\partial x} \qquad (3)$$

$$\frac{d}{d} \frac{d}{d} \frac{d}{d}$$

4. If $x = e^u cosec v$, $y = e^u \cot v$ and z is a function of x and y, prove that

$$\left(\frac{\partial z}{\partial x}\right)^{2} - \left(\frac{\partial z}{\partial y}\right)^{2} = e^{-2u} \left[\left(\frac{\partial z}{\partial u}\right)^{2} - \sin^{2} v \left(\frac{\partial z}{\partial v}\right)^{2} \right]$$

$$\frac{So(1)}{2} \cdot \pi = e^{4} (ose(1), \quad M = e^{4} (ote)$$

$$\frac{\partial z}{\partial u} = \frac{\partial z}{\partial m} \cdot \frac{\partial m}{\partial u} + \frac{\partial z}{\partial y} \cdot \frac{\partial M}{\partial u}$$

$$\frac{\partial z}{\partial u} = \frac{\partial z}{\partial m} \left(e^{4} (ose(1)) + \frac{\partial z}{\partial y} \cdot \left(e^{4} (ote) \right) \right)$$

$$\left(\frac{\partial z}{\partial u} \right)^{2} = \left(\frac{\partial z}{\partial m} \right)^{2} \left(e^{24} (ose(1)) + \left(\frac{\partial z}{\partial m} \right)^{2} \left(e^{24} (ote^{2} v) \right) \right)$$

$$+2\left(\frac{\partial 2}{\partial m}\right)\left(\frac{\partial 2}{\partial m}\right)\left(e^{2\omega}\left(\cos e^{\omega \omega}\cos e^{\omega \omega}\right)-1\right)$$

$$NOW \frac{\partial z}{\partial v} = \frac{\partial z}{\partial n} \cdot \frac{\partial n}{\partial v} + \frac{\partial z}{\partial y} \cdot \frac{\partial y}{\partial v}$$

$$= \frac{\partial z}{\partial n} \cdot \left(-e^{ic} \cos e^{iv} \cot v\right) + \frac{\partial z}{\partial y} \left(-e^{ic} \csc^{2} v\right)$$

$$\left(\frac{\partial z}{\partial v}\right)^{2} = \left(\frac{\partial z}{\partial n}\right)^{2} \left(e^{2ic} \csc^{2} v \cot^{2} v\right) + \left(\frac{\partial z}{\partial y}\right)^{2} \left(e^{2ic} \csc^{2} v\right)$$

$$+ 2 \left(\frac{\partial z}{\partial n}\right) \left(\frac{\partial z}{\partial v}\right) \left(e^{2ic} \csc^{2} v \cot^{2} v\right)$$

$$\left(\frac{\partial z}{\partial v}\right)^{2} = \left(\frac{\partial z}{\partial n}\right)^{2} \left(e^{2ic} \cot^{2} v\right) + \left(\frac{\partial z}{\partial y}\right)^{2} \left(e^{2ic} \csc^{2} v\right)$$

$$+ 2 \left(\frac{\partial z}{\partial n}\right) \left(\frac{\partial z}{\partial y}\right) \left(e^{2ic} \csc^{2} v \cot^{2} v\right)$$

$$\left(\frac{\partial z}{\partial v}\right)^{2} - \left(\frac{\partial z}{\partial n}\right)^{2} = \left(\frac{\partial z}{\partial n}\right)^{2} e^{2ic} \left(\csc^{2} v \cot^{2} v\right)$$

$$\left(\frac{\partial z}{\partial v}\right)^{2} - \left(\frac{\partial z}{\partial v}\right)^{2} = \left(\frac{\partial z}{\partial v}\right)^{2} e^{2ic} \left(\csc^{2} v - \cot^{2} v\right)$$

$$+ \left(\frac{\partial z}{\partial v}\right)^{2} e^{2ic} \left(\cot^{2} v - \csc^{2} v\right)$$

$$\left(\frac{\partial z}{\partial v}\right)^{2} - \left(\frac{\partial z}{\partial v}\right)^{2} - \left(\frac{\sin^{2} v}{\partial v}\right) \left(\frac{\partial z}{\partial v}\right)^{2}\right]$$

$$= \left(\frac{\partial z}{\partial m}\right)^{2} \left(\left(\cos ec^{2} v - \cot^{2} v\right) + \left(\frac{\partial z}{\partial y}\right)^{2} \left(\cot^{2} v - \cos ec^{2} v\right)$$

PNS = $\left(\frac{\partial z}{\partial m}\right)^{2} - \left(\frac{\partial z}{\partial y}\right)^{2} = LMS$

5 If $x = \sqrt{vw}$, $y = \sqrt{wu}$, $z = \sqrt{uv}$, prove that

$$x\frac{\partial\phi}{\partial x} + y\frac{\partial\phi}{\partial y} + z\frac{\partial\phi}{\partial z} = u\frac{\partial\phi}{\partial u} + v\frac{\partial\phi}{\partial v} + w\frac{\partial\phi}{\partial w} \text{ where } \phi \text{ is a function of } x, y, z.$$

$$\frac{S_{01}}{S_{01}} = \frac{S_{01}}{S_{01}} + \frac{S_{01}}{S_{01}} + \frac{S_{01}}{S_{02}} + \frac{S_{02}}{S_{01}} + \frac{S_{01}}{S_{02}} + \frac{S_{02}}{S_{01}} + \frac{S_{01}}{S_{01}} + \frac{S_{02}}{S_{01}} + \frac{S_{01}}{S_{01}} + \frac{S_{02}}{S_{01}} + \frac{S_{01}}{S_{01}} + \frac{S_{02}}{S_{01}} + \frac{S_{01}}{S_{01}} + \frac{S_{01}}{S_{01}$$

$$u \frac{\partial \phi}{\partial u} = \frac{y}{2} \frac{\partial \phi}{\partial y} + \frac{z}{2} \frac{\partial \phi}{\partial z} - (1)$$

$$= \int \omega \left(\frac{1}{2} \int \omega \right)$$
$$= \int \omega \left(\frac{1}{2} \int \omega \right)$$

$$\frac{\partial \Phi}{\partial V} = \frac{\partial \Phi}{\partial n} \frac{\partial n}{\partial V} + \frac{\partial \Phi}{\partial z} \frac{\partial z}{\partial V}$$
$$= \frac{\partial \Phi}{\partial n} \frac{\int \omega}{2J_{1}} + \frac{\partial \Phi}{\partial z} \frac{J \omega}{2J_{1}}$$
$$= \frac{\partial \Phi}{\partial n} \cdot \frac{\int \omega}{2J_{1}} + \frac{\partial \Phi}{\partial z} \frac{J \omega}{2J_{1}}$$
$$= \frac{\partial \Phi}{\partial n} \cdot \frac{J \omega}{2J_{2}} + \frac{\partial \Phi}{\partial z} - \frac{2}{2} \frac{\partial \Phi}{\partial z} = \frac{\chi}{2} \frac{\partial \Phi}{\partial n} + \frac{2}{2} \frac{\partial \Phi}{\partial z} - 2 \frac{\partial \Phi}{\partial z}$$

$$\frac{\partial \rho}{\partial \omega} = \frac{\partial \Phi}{\partial m} \cdot \frac{\partial \pi}{\partial \omega} + \frac{\partial \Phi}{\partial y} + \frac{\partial y}{\partial \omega}$$

$$= \frac{\partial \Phi}{\partial n} \cdot \frac{\int u}{2 \int \omega} + \frac{\partial \Phi}{\partial y} \cdot \frac{\int u}{2 \int \omega}$$

$$\omega \tau \Phi = \frac{\int u \omega}{2} \frac{\partial \Phi}{\partial m} + \frac{\int u \omega}{2} \frac{\partial \Phi}{\partial y} = \frac{\pi}{2} \frac{\partial \Phi}{\partial m} + \frac{y}{2} \frac{\partial \Phi}{\partial y} - 3$$

$$\alpha dding \quad (1) \quad (2) \quad 4 \quad (3)$$

